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1| T IXAT R B 2285 L HE L 101 = € 96. 12 15662 1505431
2 | MVLIX AR 228k 1 c102% | R 112.9 15584 1759434
3 | VT XA R B 228 8 1 L0103 % € 112.9 15584 1759434
4 | SVLIX AR 228k 1 c104% | fEE 112.9 15584 1759434
5 | VT XA R B 228 8 1 L0105 % € 112.9 15584 1759434
6 | MVLIX R 228k 1 c106% | R 96. 12 15662 1505431
T | VT XA R BT 228 8 1 L0201 % € 96. 12 15819 1520522
8 | VT XA B 122818 1 FEyu202 % 5 112.9 15740 1777046
9 | MV IX R R 22818 203% | fFE 112.9 15740 1777046
10 | YT X AT A B 122405 1 HL 0204 % FE 112.9 15740 1777046
11 | VT X ERE 2288k 1 550205% | (% 112.9 15740 1777046
12 | YT IX AT A B 122805 1 L0206 = FE 96. 12 15819 1520522
13 | MmyT X AF B B 22485 1 H1 0301 = FE 96. 12 15975 1535517
14 | T IX AT AR B 722805 1 HL 0302 % £ 112.9 15897 1794771
15 | MV X445 A2 e 122888 1 170303 % (=t 112.9 15897 1794771
16 | MVTIXMEERL 224tk 1 80304= | A% 112.9 15897 1794771
17 | T IXAE B b 12288k 1 #3052 | % 112.9 15897 1794771
18 | MVEIX B E R 224tk 1 H0306% | A% 96. 12 15975 1535517
19 | T IXAE R b o2tk Bpa01= | o 96. 12 16132 1550608
20 | VT IX AR R ootk st402%= | fEE 112.9 16054 1812497
21 | MV XA R B 228k 1 403 | (FE 112.9 16054 1812497
22 | VT IX AR R b Fooatk s ra04= | e 112.9 16054 1812497
23 | MV IX A R B o2k 1 405 | (F 112.9 16054 1812497
24 | ML IXA BB F22m 1 B 0406% | (% 96. 12 16132 1550608
25 | MV XA S B 228k 1 501 | (EE 96. 12 16288 1565603
26 | ML IXAF B 2ouff1 B oun02% | (% 112.9 16210 1830109
27 | T X {2 B 122885 1 HR U503 FE 112.9 16210 1830109
28 | ML IX AT B 2288 1 FEouo04% | {EE 112.9 16210 1830109
29 | MV XA R B 228k 1 05055 | (EE 112.9 16210 1830109
30 | VT X AT B B 122885 1 FEL L5065 ¥ 96. 12 16288 1565603
31| MV IX A R B 228k 1 601 | (FE 96. 12 16445 1580693
32 | YT IX A1 2E Be 22485 1 FEJT602 % Fx 112.9 16367 1847834
33 | MV XA R B 228k 1 #0603 | (FE 112.9 16367 1847834
34 | VT IX AT 22 Be 22485 1 FE L6044 % Fx 112.9 16367 1847834
35 | MV X AF R B 228k 1 #6055 | 112.9 16367 1847834
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36 | MOVTIX AT 2 B 122885 1 FEL L6065 £ 96. 12 16445 1580693
37 | MV XA R B 228k 1 701 | (EE 96. 12 16602 1595784
38 | MOVTIX AT 2 B F-2285 1 FEL L7025 ¥ 112.9 16523 1865447
39 | WEILIX AL R b 2286 1 6703 | AEE 112.9 16523 1865447
40 | MVT X AT B B 122485 1 0704 % € 112.9 16523 1865447
41 | MVLIXAE R B 72288k 1 07052 | (EE 112.9 16523 1865447
42 | MVT X AT B B 122485 1 L0706 % € 96. 12 16602 1595784
43 | MVLIXAT B B 72288k 1 08012 | (EE 96. 12 16758 1610779
44 | MVT XA B B 122485 1 H1 0802 % € 112.9 16680 1883172
45 | VLI AT R B 12288k 1 908032 | (F 112.9 16680 1883172
46 | MSVT X AT B B 122405 1 H1 0804 % € 112.9 16680 1883172
47 | YT X AT R 224k 1 B E8056% | fEE 112.9 16680 1883172
48 | WYX A BB o268k 1 806 | [ 96. 12 16758 1610779
49 | YT IX AT A BT 122885 1 50901 = 5 96. 12 16915 1625870
50 | MOV IX AT R B 228k 1 #1902 | (F % 112.9 16837 1900897
51 | MyT XA A Bt 722885 1 0903 = 5 112.9 16837 1900897
52 | MV IX AT R B 228k 1 #0904 | (F% 112.9 16837 1900897
53 | MVT X AT A Bt 722885 1§ 0905 = F3 112.9 16837 1900897
54 | YT IX AT 2 B 122885 1 HE 906 = FE 96. 12 16915 1625870
55 |y XA B e o2k 1 510015 (R 96. 12 17072 1640961
56 | MSVT X A5 A BE 228 81 91003 | fEE 112.9 16993 1918510
57 |WVLIX 4B e 22801 5610042 | % 112.9 16993 1918510
58 |MSVT X5 A BE F228 8 1 10055 {E 112.9 16993 1918510
59 | WVLIX B e 228k 1 Bt 1006%| [ 96. 12 17072 1640961
60 | MV XA R F228 81 1101 =]|  {ES 96. 12 17228 1655955
61 [myr X R ookl 11025 % 112.9 17150 1936235
62 | MOVT XA B F228 81 Hot1103%|  {ES 112.9 17150 1936235
63 |MVLIX AR R ro28ikl Horl1104%|  fEE 112.9 17150 1936235
64 | MOV XA AL BE 228 81 Hot1105%|  fES 112.9 17150 1936235
65 |MOVLIX A5 e T8tk 1 8r1106% | fEE 96. 12 17228 1655955
66 | MOV IX R BE F228 81 1201 % | fES 96. 12 17385 1671046
67 | M9VE X5 A B 228k 1 Hr1202% | fEE 112.9 17307 1953960
68 ML IX A R 228515551203 fE% 112.9 17307 1953960
69 | MSVT X4 B 228k 1 FR 1204 fEE 112.9 17307 1953960
70 [ MVT X5 BB 722801 8.911205% | fEE 112.9 17307 1953960
71 VT X A B 2288k 1 89112065 fEE 96. 12 17385 1671046
72 MOV XA BE 228181 8ot 1301 % fEE 96. 12 17541 1686041
73 [MOVEIX B ERE 228tk 1 8r1302% | fEE 112.9 17463 1971573
74 | MOVT XA A BE 22818 1 8911303%|  {ES 112.9 17463 1971573
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75 [MOVEIX B ERE 28tk 1 8r1304% |  fEE 112.9 17463 1971573
76 MOV XA A BE 22418 1 8ot 1305%|  fEE 112.9 17463 1971573
77 |MOVEIX B AR 228tk 1 8t1306% | fEE 96. 12 17541 1686041
78 MOV XA BE 228 k1 8t1401 %] {EE 96. 12 17698 1701132
79 [MOVEIX B ERL 28tk 1 814025 EE 112.9 17620 1989298
80 | MSVT X A5 AL B 228 K1 801403 % | {EE 112.9 17620 1989298
81 |MVL XA FE F228kk1 8014045 fEE 112.9 17620 1989298
82 |MSVT X5 A e T228 1 8 t1405% | {ES 112.9 17620 1989298
83 |MVLIX AR T8k 1 814065 | fEE 96. 12 17698 1701132
84 |MSVT X5 A BE T228 81801501 % {EE 96. 12 17855 1716223
85 |MVL XA B 2281 8115025 | fEE 112.9 17776 2006910
86 |MIVLIXAH AR 122818015035 fE% 112.9 17776 2006910
87 |MVT XA B 228 k1 8 t1504% | fEE 112.9 17776 2006910
88 |MVLIX B 122881 501506 = (1% 96. 12 17855 1716223
89 | MVLIXAE Ry o8k 1B t101% | fEE 139. 33 15820 2204201
90 | MVLIX AR b 288k 1 62013 | fEE 139. 33 15978 2226215
91 | MYLIX AR R by o8k 13163013 | fEE 138. 72 16137 2238525
92 | MVT X AT A Bt 72885 1 0302 £ 138. 72 16137 2238525
93 | ML IX AT 2 B 12885 1 R 401 = FE 138.72 16295 2260442
94 | WVLIX AR B 288k 1 B 0402 | fEE 138. 72 16295 2260442
95 | YT IX AT 2 B 12885 1 R U501 % (Es! 138. 72 16453 2282360
96 | MVLIX 4R B 288k 1 6502 | fEE 138. 72 16453 2282360
97 | YT IX AT 2 B 12885 1 R 70601 = EE 138. 72 16611 2304278
98 | ML X AT B Bt 128K 1 HLJu602 %= & 138. 72 16611 2304278
99 | ML IX AT 2 B 285 LI 701 = EE 138. 72 16769 2326196
100 | YT IX 4R R b 728t 1 6702 | fEE 138. 72 16769 2326196
101 | WYL XA 2 B F-28#% 1 L8011 = EE 138. 72 16928 2348252
102 | MYT X A 2 e 1288 1 51802 % € 138. 72 16928 2348252
103 | YT X AR by o8k 1515901 | fEE 138. 72 17086 2370170
104 | MYT XA 2 B 128815 1 F1yu902 % € 138. 72 17086 2370170
105 | MV IX 16 B B 288k 1 5 ot1001% | fEE 138. 72 17244 2392088
106 | MyT X AT AL B 72888k 1 010023 | {EF 138. 72 17244 2392088
107 A\ EVLIX A B b o8t 1 i n1101%|  (E% 138. 72 17402 2414005
108 | MY X AF B e 288k 1 011023 {EE 138. 72 17402 2414005
109 | MV X 45 BB 7288k 1 Hor1201% | fEE 138. 72 17560 2435923
110 | My XA B B 288tk 1 012025 {EE 138. 72 17560 2435923
111 |V A 281 ot 1301% | (% 138. 72 17719 2457980
112 | MV XA B F 288k 1 801302 | {EE 138. 72 17719 2457980
113 |EVLIX A b 28tk Mt 1401% | (% 138. 72 17877 2479897
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114 VLI B R 288k 1 Bt 1402%| (% 138. 72 17877 2479897
115 | MOVT XA AL B 28818 1 8ot 1501 % fEE 138. 72 18035 2501815
116 VLI B b 288k 1 61502 (% 138. 72 18035 2501815
117 | MOVT XA AL B 288K 1 8ot1602% | {EE 138. 72 18193 2523733
118 | MV X5 A B 288k 1 8t1701% | fEE 138. 72 18351 2545651
119 VL XA R T28# 81 01702 (E% 138. 72 18351 2545651
120 | MOV XA A B 288k 1 8t1801% | fEE 138.72 16137 2238525
121 |EVE XA R 28881 G 1802% | (I 138. 72 16137 2238525
122 | My AR R B 728852 10301 = FE 138. 72 16137 2238525
123 | MVLIX AR B F-o8kord01= | A% 138. 72 16295 2260442
124 | YT XA 2 B 12885 2 F 501 = FE 138.72 16453 2282360
125 | WYL X AT 2 B 2885 2 5. 0601 = £E 138. 72 16611 2304278
126 | MY XA 2 B 12885 2 FL L 701 = FE 138.72 16769 2326196
127 | MYVTIX AR R i F-o8ko g0l = | % 138. 72 16928 2348252
128 | WYL X A4 2 B 12885 2 Fi o901 == EE 138.72 17086 2370170
129 |MOVE X A5 BB 288tk 28 01001 | fE% 138. 72 17244 2392088
130 | MOV X B B Fo8skkafnl1101%|  fEE 138.72 17402 2414005
131 | MOVT XA B B o8tk morl1201 % fEE 138. 72 17560 2435923
132 | MV X4 B B 7o88kk2r1301% | fEE 138.72 17719 2457980
133 | MV IXAE B e o8tk it 14012 138. 72 17877 2479897
134 | MV X4 B B 288tk 1501 % | EE 138. 72 18035 2501815
135 | MV X AE B e 1288k t1601% ]| 138. 72 18193 2523733
136 | MV X4 B B 7288k t1701% | fEE 138. 72 18351 2545651
137 | MV X AT B e 7288tk 01801 {EE 138. 72 16137 2238525




